MATH-1860







Name ________SOLUTIONS_________

Sample Exam 2  Form A

Spring 2003







S.I.D.# ___________________________

INSTRUCTIONS: You must show enough work to justify your answer on ALL problems.  Correct answers with no work (or inconsistent work) shown will not receive any credit.  The point value for each problem is given.  Give exact answers.  (No decimal approximations.)  You are permitted to use a non-graphing calculator.
1.
Find the domain of the function 
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Answer:  
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2.
Differentiate the following functions.  (8 pts. each except where indicated)  Put a box around your answer.
a.
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Answer: 
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b.
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Answer:  
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c.
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Answer:  
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d.
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Answer:  
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e.
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Answer: 
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f.
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Answer:  
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3.
Evaluate the following integrals.  Put a box around your answer.
a.
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Answer:  
[image: image30.wmf]c

e

t

+

÷

÷

ø

ö

ç

ç

è

æ

-

3

sin

1


b.
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Answer:  
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c.
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Answer: 
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d.
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Answer:  
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f.
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Answer:  
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4.
Evaluate the following limits.


a.
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This problem will be on Exam 3

Answer __________
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